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\question

\includegraphics[width=0.25\textwidth [{images/Threetensions.png}
In the figure shown, \straighttheta\textsubscript{1} is 18 degrees, and
\straighttheta\textsubscript{3} is 34 degrees. The tension
T\textsubscript{3} is 24 N. What is the tension, T\textsubscript{1}?
\ifkey\endnote{a04DynForce Newton\_tensions\ 1 placed in Public
Domain by Guy Vandegrift: {\url{https://en.wikiversity.org/wiki/
special:permalink/1863118} } }\else{ }\fi

\begin{choices}

\choice 15.82 N. __

\choice 18.19 N. This is LaTeX
\CorrectChoice 20.92 N. :

\choice 24.06 N. SCript

\choice 27.67 N.
\end{choices}



For more info Google:

Wikiversity quizbank In the figure shown, 0 is 21 degrees, and the
mass is 3.1 kg. What is To?

A. 55.74 N.

The 5-question quiz

“Newton_tensions” B. 64.1 N.
is numerical uses C. 73.72 N.
two figures. D. 84.77 N.
E. 97.49 N.




In the figure shown, 04 isdegrees, and O3 is

degrees. The tension T3 is N. What is the
tension, T7
T,

&

In the figure shown, 07 is degrees, and O3 is
degrees. The tension T3 is 46| N. What is the

tension, 117

Numerical questions use

random input variables




True-False questions can be useful

1S assume
shown.

Oln this figure, dA; = dAs
Oln this ﬁgure, El : d/fl — Eg : d/Tg
OIn this figure, El : d%fl + EQ - dffg =0 [

S . point charge
------ inside surface

OIn this figure, El : dfrl + Eg : dfi’g =0

Oln this figure, |Ey| - |dA;| = | Es| - |dA3)

OIn this figure, |El - de1| = |Eg : dﬂ3|
(Key: F, T, T,F, F, T)
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i tk - 0 x

Print sample-testname | 0 | 3: AstroChasingPluto
0| 1: c19ElectricPotentialField_Surfacelntegral (3) . 3.1: The trip by "New Horizons" from Earth to Pluto took almost a
EI. 2: a04DynForce Newton_tensions (5) | - 3.2: The "Chasing Pluto" video showed a stellar occultation that was observed in order to le
EI: 3: AstroChasingPluto {32}| - 3.3: The "Chasing Pluto” video showed a stellar occultation that was observed

- 3.4 A stellar occultation occurs when a planet passes in front of a star
- 3.5: A stellar occultation occurs when the north or south pole of a planet is aligned with a st:
SeleCt b ank - 3.6: Stellar occultation tells something about a planet because

- . - 3.7: Silicon carbide was used to construct the telescope "LORRI" because this matenal is
qU.IZ and C]']'Ck - 3.8: The darker portions of Pluto are believe to be from "snowflakes" of
- 3.9 "Pepssi”, "Rex", "Swap”, "Lorn”, "Alice” and "Ralf" are
- 3.10: What was the concern about taking a telescope/camera to the cold environment near
- 3.11: As "New Horizon's" approaches Jupiter, it was essential that

A question
Selection grid -214'Thnb(ninnrhplthathnndnqrriwaqa\\\\\\\ mardenft LA LLLA |
opens

- 3.13: While close to Jupiter, "New Horizons" the most spectacular image was of
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1 Print sample-testname 1 | 1: c19ElectricPotentialField_Surfacelntegral
1 1: c19ElectricPotentialField Surfacelntegral (3) ‘- 1.1: A cylinder of radius, r=3, and height, h=4, is centered at the origin and oriented along the z axis. A vec
0| 2. a04DynForce Newton_tensions (5) Iﬁ 1.2: A cylinder of radius, r=3, and height, h=4, is ce at the origin and oriented along the z axis. A vec
0 | 3: AstroChasingPluto (32) 1.3: A cylinder of radius, r=3, and height, h=4, is ﬂenteR\Qand oriented along the z axis. A vec
Toggle % Click to see
questions question
on/off test
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1 Print sample-testname 1 | 1: c19ElectricPotential
1| 1: c19ElectricPotentialField_Surfaceintegral (3) - 1.1: A cylinder of radiu:

1 c19ElectricPotentialField_Surfacelntegral: Question 2
\question A cylinder of radius, r=3, and height, h=4, is centered at the
origin and oriented along the z axis, A vector field can be expressed in

cylindrical coordinates as, \,\(\vec F = (2.35+2.57z)\rho*3\hat\rho . .
0| 2. a04DynForce Newton_tensions (5) +7.452"3\hat z\). Let \(\hat n\) be th ard unit normal to this cylinder I ON 1.2: Acyli f radiu
’ and evaluate \ \(\left [\int_{sid cdot\hat n dA\right|\,\) over the g

curved side surface of th . \begin{choices} \choice 2.221E+03
\choice 2.690E+03 \c +03 \choice 3.949E+03 \CorrectChoice
+03 \end{choices}

0| 3: AstroChasingPluto (32) - 1.3: A cylinder of radiu:

( °
(2.35+2.57z)\rho*3\hat\rho The code imbeds
translates to: random variables
- into the LaTeX

(2.35 + 2.572)p°p
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- 3.15: For most of its nine-year journey, it was asleep, but once a week, the "New Horizon's" spacecraft
- 3.16: Clyde Tombaugh, who discovered Pluto back in the 1930s
- 3.17: Clyde Tombaugh's reward for discovering Pluto was

(

\_

H2T #28 #29

cluster questions

from Nova'’s
“Chasing Pluto”

\ - 3.18: The "blink comparator" compared
- 3.19: A typical average radio station uses 50,000 watts to transmit a signal. The transmitter on "New Hori:

Thre e fa Ct-b ase d - 3.20: Mike Brown's search for another Pluto-like object eventually led to the discovery of [[w:Eris|]] in 2005

- 3.21: Pluto ceased to be called a planet in 2006, after the International Astronomical Union defined a plane
- 3.22: The influence of Jupiter's gravity on Pluto is that Jupiter gradually pushes Pluto away
- 3.23: When the discovery of the "ninth planet” was made in 1930, the name "Pluto” was chosen after a cz
- 3.24: The influence of Jupiter's gravity on Pluto is that Jupiter gradually brings Pluto closer
- 3.25: Which was NOT listed as one of the three things commonly considered necessary for the formation
- 3.26: As "New Horizon" approached Jupiter, it looked for new Moons, and the ground crew was glad that
o - 3.27: \includegraphic s[width=0.3textwidth}{images/Pluto-HST-lower-left. png} This corresponds to
o - 3.28: \includegraphics[width=0.3\textwidth}{images/Pluto-HST-lower-right png} This image corresponds to
o - 3.29: \includegraphics[width=0.3textwidth}{images/Hst-pluto1-derivative png} These two images of Pluto |
. 3.30: The atmosphere of Pluto
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Question 29

3 AstroChasingPlute: Question 29
‘\question
\includegraphics[width=0.3\textwidth]}{images/Hst-pluto1-derivative.png)
These two images of Pluto represent: \begin{choices} \choice a land-based
telescope and the "Hubble Space Telescope” \CorrectChoice raw and
processed images \choice "MNew Horizon" near Earth and mid-way to Pluto
\choice "New Horizon" mid-way to Pluto and near Pluto \choice "MNew
Horizon" and the "Hubble Space Telescope' \end{choices}

_ 0 W
R
Il 318 e "biink comp:

- 3.19: Atypical average
- 3.20: Mike Brown's se:
[l 321 Puto ceased tot
Il 322 The influence of
Il 323 When the discov
I 324 The influence of
[l 325 which was NOT
[l 325 As "New Horizon
I 327 \includegraphics|
[l 328 \includegraphics|

. 3.29: \inclkudegraphicsl

. 3.30: The atmosphere

L]

-
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4 Print quple-testname

1
0
3

1- c1¥ectricPotentialField_Surfacelntegral (3)

2: a04DynForce Newton_tensions (5)

3: AstroChasingPluto (32)

Test testname In

course sample
has 4 questions

1 | 1: c19ElectricPotentialField_Surfacelntegral
- 1.1: A cylinder of radius, r=3, and height, h=4, is centered at the origin and oriented :

ON 1.2: A cylinder of radius, r=3, and height, h=4, is centered at the origin and oriented :
- 1.3: A cylinder of radius, r=3, and height, h=4, is centered at the origin and oriented :
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© 156565750323-sample-testname-...  — O X

File Edit Search Format Typeset Scripts Window Help
' pdfLaTeX+MakeIndex+BibTeX ~ | & ©

%PREAMBLE

\newcommand{\quiztype}{mixed}
\newif\ifkey\documentclass[11pt,twoside]{exam}
\RequirePackage{amssymb, amsfonts, amsmath, latexsym, verbatim,
xspace, setspace,datetime,tikz, pgflibraryplotmarks, hyperref,
textcomp}

\usepackage[left=.4in, right=.4in, bottom=.9in, top=.7in]{geometry}
\usepackage{endnotes, multicol textgreek,graphicx} \singlespacing
\parindent O0ex \[nypersetup{ colorlinks=true, urlcolor=blue}
\pagestyle{headandfoot}

\runningheader{testname: Test}{\thepage\ of \numpages}
{156565750323}

\footer{}

{\LARGE{The next page might contain more answer choices for this
question}}{}

% BEGIN DOCUMENT

\begin{document}\title{testname: Test}
\author{\includegraphics[width=0.10\textwidth]
{images/666px-Wikiversity-logo-en.png}\\

The LaTex code that creates this quiz is released to the Public Domain\

\

»

testname: Test

| S
Jas',

WIKIVERSITY

that creates this quiz is release
for each question is documente
bucket .org/Guy_vandegrift,
://en.wikiversity.org/wik

mixed quiz 15656575032:

Monday 12** August,

Timestamp
on all pages

pcument was created wit
be possible for users to d

rsions of this document.
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testname: Test

S
R

WIKIVERSITY

The LaTex code that creates this quiz is released to the Public Domain
Attribution for each question is documented in the Appendix
https://bitbucket.org/Guy_vandegrift/qbwiki/wiki/Home
https://en.wikiversity.org/wiki/Quizbank
mixed quiz 156565874890

Monday 12" August, 2019

Though posted on Wikiversity, this document was created without wikitex using Python to write LaTeX markup.
With a bit more development it will be possible for users to download and use software that will permit them to
create, modify, and print their own versions of this document.

Contents /f . .
- - Multiple versions .

01.1 KEYV1.......| L With keys ................. 7

0.2 V2 ... oo e 11
0.2.1  KEY Vi o —————————————————————————————————————— . - 15

1 asibution ===y Attribution for each question ] 17
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3. A
B.
C
D
E

-

\_

unless it immediately follows

\

This fact-based question is
useless ...

the learning experience

J

raw and processed images

. "New Horizon” near Earth and mid-way to Pluto

. "New Horizon” mid-way to Pluto and near Pluto

. "New Horizon” and the ”"Hubble Space Telescope”

T
These two images of Pluto represent:*

. a land-based telescope and the "Hubble Space Telescope”

" That experience A

could a classroom
video or short
\_passage on an exam
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A

B

C

e

D E F G

W 0 ~N O 1 M W N =

Amassoff ml

a force

Sm/sh

1.15
1.19

kg is attached to a mass of| __m2|kg and experiences
offl _fIN. What is the acceleration?

1.8
1.1

Random input:
=ROUND(1.01+0.9¥RAND(),1)

strings: _ ml, _ m2,

. Python converts to number
_f

~

1 uses one or
columns to
ulate a, e.qg.:

/(B12+C12))




https://tools.wmflabs.org/pageviews/?pro
ject=en.wikiversity.org&platform=all-
access&agent—user&range=latest-
20&pages=Quizbank/All questions

800

_ 500 |

The bank has

been viewed
3,640 times in the
last six months

100
Jan 2019 Feb 2019 Mar 2019 Apr 2019 May 2019 Jun 2019 Jul 2019

Quizbank/All questions - 1/1/2019 - 7/31/2019 - 3,640 pageviews (520/month)

Quizbank/All questions - 1/1/2019 - 7/31/2019 - 3,640 pageviews (520/month)
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A B | C

3.20E+08 32 million: US population

4.00E+06 divided by 80 freshman age

1.33E+06 divided by 3 in college

1.33E+04 divided by 100 1% professor participation
1.33E+04 13 thousand/year at one question per student

Order-of-magnitude 13 thousand bank
estimate guestions per year!

"“j) In physics education, a ... Fermi question is an
wimpia @stimation problem designed to teach ... approximation.

eeeeeeeeeeeeeeee



